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Which country started the industrialisation?

France Germany
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France

Which country started the industrialisation?
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What was an important vehicle at the time of
Industrialisation?

Bobby car Underground
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What was an important vehicle at the time of
Industrialisation?

Bobby car Underground
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Who worked at the weaving looms in the factories?

Children
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Who worked at the weaving looms in the factories?
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Why did the industrialisation start in England?

near Scottland English language
Bad weather Trade within the country
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Why did the industrialisation start in England?

near Scottland English language

Bad weather Trade within the country
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Where did the people move in the industrial revolution?

To foreign countries To the seas
To the country To the cities
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Where did the people move in the industrial revolution?

To foreign countries To the seas
To the country To the cities
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textile-production?

Spinning Wheel Spinning Blade
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Which machine helped England in the
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Which machine helped England in the
textile-production?

Spinning Wheel Spinning Blade

Spinning Thread Spinning Jenny
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Berlin-Miinchen Nurnberg-Frth

Hamburg-Bremen

Dortmund-Kiel
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Which line was taken by the first train in Germany?

Berlin-Miinchen Nurnberg-Furth
Hamburg-Bremen Dortmund-Kiel
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Which persons were crucial for the labor movemen
Germany?
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Réntgen,Einstein,Siemens Lassale,Marx,Engels
Engels,Benz,Marx Varchow,Marx,Kennedy
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Lassale,Marx,Engels
Engels,Benz,Marx Varchow,Marx,Kennedy

Dy Dy ey ey

]

Réntgen,Einstein,Siemens
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Who created the first working steam engine?

Thomas Savery Blasco de Garay
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Who created the first working steam engine?

Thomas Savery Blasco de Garay
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Who wasn't an industrialist?

Alfred Krupp Josef Albers

Fritz Thyssen Leopold Hoesch
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Who wasn't an industrialist?

Alfred Krupp Josef Albers

Fritz Thyssen Leopold Hoesch
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Whe id Bismac introduc te health inurance’?
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Wh id Bismac introduc te healthinurance’?
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In how many individual states Germany was splitted in
the 19. century?
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In how many individual states Germany was splitted in
the 19. century?
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At what time did fewer people work in the agronomy then

In the industry?
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At what time did fewer people work in the agronomy then
In the industry?
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